
 

#ASSIGNMENT: CONTINUITY 

Q.1  Find value of a for which the defined function is continuous at x=0. 

F(x) =�
𝑎 Sin 𝜋

2
(𝑥 + 1) ; 𝑥 ≤ 0

𝑡𝑎𝑛𝑥−𝑆𝑖𝑛𝑥
𝑥3

 ; 𝑥 > 0
    Ans.) a=1/2 

Q.2 Find value of a and b for which the defined function is continuous at x=0. 

F(x) =

⎩
⎨

⎧
𝑆𝑖𝑛(𝑎+1)𝑥+2𝑆𝑖𝑛𝑥

𝑥
; 𝑥 < 0

2                  ;𝑥 = 0
√1+𝑏𝑥   −1

𝑥
     ; 𝑥 > 0

    Ans.) a=-1, b=4 

Q.3 Find values of K for which the defined function is continuous at x=0. 

F(x) = �
1−𝐶𝑜𝑠4𝑥
8𝑥2

; 𝑥 ≠ 0
𝐾          ;𝑥 = 0

    Ans.) K=1 

Q.4 Find value of p and q for which the function is continuous at x=𝜋
2

. 

F(x) = 

⎩
⎪
⎨

⎪
⎧

1−𝑆𝑖𝑛3𝑥
3𝐶𝑜𝑠2𝑥

; 𝑥 < 𝜋
2

𝑝            ; 𝑥 = 𝜋
2

𝑞(1−𝑆𝑖𝑛𝑥)
(𝜋−2𝑥)2

; 𝑥 > 𝜋
2

    Ans.) p=1/2, q=4 

Q.5 Find value of K for which the function is continuous at x=𝜋
2

. 

F(x) =�
𝐾𝐶𝑜𝑠𝑥
𝜋−2𝑥

; 𝑥 ≠ 𝜋
2

3        ;𝑥 = 𝜋
2

    Ans.) K=6 

Q.6 Find value of a for which the defined function is continuous at x=0. 

F(x)=

⎩
⎨

⎧
1−𝐶𝑜𝑠4𝑥

𝑥2
; 𝑥 < 0

𝑎            ;𝑥 = 0
√𝑥

�16+√𝑥−4
; 𝑥 > 0

    Ans.) a=8 

Q.7 Find value of K for which the function is continuous at x=0. 

F(x) = �
√1+𝐾𝑥−√1−𝐾𝑥

𝑥
;−1 ≤ 𝑥 < 0

2𝑥+1
𝑥−1

            ; 0 ≤ 𝑥 < 1
  Ans.) K=-1 

Q.8 Find value of K for which the function is continuous at x=0. 



 

F(x)= �
𝑒𝑥+𝑒−𝑥−2

𝑥2
; 𝑥 ≠ 0

4𝐾          ;𝑥 = 0
    Ans.) K=1/4 

Q.9 Find value of c, a & b for which the function is continuous at x=0. 

F(x)=

⎩
⎨

⎧
𝑆𝑖𝑛(𝑎+1)𝑥+𝑆𝑖𝑛𝑥

𝑥
; 𝑥 < 0

𝑐                    ;𝑥 = 0
√𝑥+𝑏𝑥2−√𝑥

𝑏√𝑥3
; 𝑥 > 0

  Ans.) a=-3/2, c=1/2, b∈R≠ {0} 

Q.10 Discuss the continuity of function at x=0  

(a) F(x)=�
𝑆𝑖𝑛𝑥
𝑥

+ 𝐶𝑜𝑠𝑥; 𝑥 ≥ 0
4(1−√1−𝑥)

𝑥
; 𝑥 < 0

   (b) F(x) =�
log (1+3𝑥)

𝑥
; 𝑥 ≠ 0

3             ;𝑥 = 0
 

Q.11 Find value of k for which the function is continuous at x=2. 

F(x) = �
2𝑥+2−16
4𝑥−16

; 𝑥 ≠ 2
𝐾          ;𝑥 = 2

    Ans.) K=1/2 

Q.12 Find value of b and a such that the function is continuous at x=4. 

F(x)=

⎩
⎨

⎧
𝑥−4

|𝑥−4|
+ 𝑎; 𝑥 < 4
𝑎 + 𝑏

𝑥−4
|𝑥−4|

+ 𝑏; 𝑥 > 4
; 𝑥 = 4    Ans.) a=1, b=-1 

Q.13 Find value of K for which the function is continuous at x=0. 

F(x)=�
log(1+2𝑥)−log (1−3𝑥)

𝑥
; 𝑥 ≠ 0

𝐾                              ;𝑥 = 0
  Ans.) K=5 

Q.14 Find value of K for which the function is continuous at x=0 if 

F(x) = �
𝐶𝑜𝑠3𝑥−𝐶𝑜𝑠𝑥

𝑥2
; 𝑥 ≠ 0

𝐾               ;𝑥 = 0
    Ans.) K=-4 

Q.15 Show that the function defined is discontinuous at x=0, whose LHL =-1 
and RHL=1 

F(x)=�
𝑒1/𝑥−1
𝑒1/𝑥+1

; 𝑥 ≠ 0
0         ; 𝑥 = 0

       

  

 


